ELECTRICAL ENGINEERING
PAPER-II

1. A pure inductor has power factor of
(a 1 (b) 1/\/5 c 0 (d) None of these

2. A series RLC circuit resonate at 200 Hz. If the capacitance is increased to four times, the
circuit will be in resonance at
(a) 100 Hz (b) 200 Hz (c) 400 Hz (d) 800 Hz

3.  The voltage phasor of a circuit is 10 £15° V and the current phasor is 2£-45° A. The
active and reactive powers in the circuit are

(a) 202 W and 10\/2 VAR (b) 10 W and 10n/3 VAR
(¢) 5Wand5\3 VAR (d) 10~/3 W and - 10 VAR

4. In the circuit shown in the figure, if the power consumed by the 5 Q resistor is 10 W, then
the power factor of the circuit is

5Q L 10 Q
MV K1kh ANV

<~ 50 sin ot (V)

(a 0.8 (b) 0.5 (c) 0.6 d o0
5.  Resistance between terminals A and B of the given figure is
R R R
Al MV MWV MV B
R
(a 3/5R (b) 1/5R (c) R (d 2/5R

6. In the given circuit, Thevenin voltage across the terminal AB is
1Q 1Q

O —WWA—o+A
10V
IOVt §1Q
o—B
(a -15V (b) 15V (c) 5V d OV

7.  Calculate the value of load resistance R; to which maximum power may be transferred
from the source shown in figure

40 Q) 60 Q
MWV MWV A
120 V= § 200 § Ry,
B
(a) 33.730hm (b) 60 ohm (c) 73.33 ohm (d) 100 ohm
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FoTFE el AT

g-aA-11
1. U 35 Uk I IR 0T &l &
@@ 1 (b) 1A[2 © 0 (d) T § FE T
2.  TH RLC v uRay § 200 Hz W AR &1 § | a5 38 uiue § Geiia & =) A1 ¢ i
ST, dF a9 AT | B
(@ 100HzW (b) 200HzW®  (c) 400Hz™ (d) 800 Hz ™

3. U UNUY W afegdal Bl 10 £15° V & 97 9RT B 2/-45° A € | GO § §ishd qur
PINIERINIGRIYCap

(a) 202 W@ 10\/2 VAR (b) 10 W a1 10n/3 VAR
(c) 5Waa5\3 VAR (d) 10\3 W@ —10 VAR
4. Toa ¥ @@ ™ aRue ®, afs 5 Q ufeRiy 511 fostelt 6 @ud 10 W €, ot aRaer o 9ifer o7 &
5Q L 10 Q

MNWN—TT T MW

<~ 50 sin wt (V)

(@) 03 (b) 0.5 (c) 06 d o
5. o3 T a3 o Al A @ B o o aiowe ©
R R R
Ao MW MWV NW o B
‘\N‘vR
(@) 3/5R (b) 1/5R (¢) R (d) 2/5R
6. T3 T uRuy H, 2T AB % A e diees &
1O 10
O —"W——+aA
10V
10vir §1£2
o— B
(@) —-15V (b)y 15V (c) 5V d OV
7. R aUE Ry S A S HIC (0 o 7 59 T A W SO sk i SR 8 W |
40 © 60 Q
M M A
120V = §209 Ry

B
(@) 33733 (b) 60 AW (c) 73.33 3™ (d) 100 3=
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8.  Ifthe wand T circuits in figure below are equivalent, then R, R,, R, respectively are
16 Q R, R,
o MWV © o—AAMWN—T— WWN—0
240 $240 IR,
@ 9Q,6Q,6Q b)) 60Q,6Q2,9Q
© 9Q,6Q,9Q d 6Q2,9Q,6Q
9.  Find the value of ‘I’ in the circuit.
6Q
AW
1
@ 3 Volt §9Q <1‘ 2 amp
(a) 2amp (b) 3 amp (c) 4amp (d 1amp
10. The current in the R = 10 Q resistance in the circuit below is
2Q
MWV
10 Q 4% § R=
10Q T 10V
20V T
@ O0A (b) TA ) 2A d 3A
11.  In the circuit below, the current through E, is
R R
MW AWV
p— I] =5A — IQ =4A —
El-[ EZI E;IV
(a) 9 A discharging (b) 9 A charging
(c) 1 A discharging (d) 1 A charging
12. For the circuit of the given figure, the value of current I is
6Q 6Q
MV j_ M
6Q 12V 6Q
T |12 A\
I I
6Q 60 6Q
ANV M
6Q 6Q
(@ 10A (b)y 0.75A (c) 05A (d 025A
Series-A 4
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8. = swid W o # Afs n wd T ooy F9ed &, @ R, R,, R, W1 &1

16 Q R, R,

[~ VW 0
24 Q % % 24 Q %R3
(e 0 o 0

@ 9Q,6Q,6Q(0b) 6Q2,602,9Q (¢) 9Q,6Q2,9Q (d) 6Q2,9Q,6Q

9. URUY H YRT ‘I’ & HH I SIS |
6 3|

(*) 34 §9aﬁn (M) 2w

(a) 21Tm. (b) 3w (c) 4Tm. (d 1tum.
10. =@ R aRog § R = 10 Q o1et Ufey ° 9T &

2Q

AMA
109% R 1
10Q T 10V

2OV'|'

@ O0A (b) 1A © 2A d 3A
11. =< & T aRag & B, # 981 aett 9wy &

EIT E{ E;[

(@) 9 ATe=nm (b) 9 A =T (c) 1A Temntem (d) 1 A =i
12. To ¥ 390 faga uiuer & &7 161 91 &
6Q

At
6Q % 12 VJ-I'_ % 6Q
|1=2 \Y
I I
6Q 60 6Q
MV M
6Q 6 Q
(@ 10A (b) 0.75A (c) 05A d 025A
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13.

14.

15.

The electrical energy consumed by an appliance of power rating P watts connected across
its rated V for t hours is

Pt Pt
(a) P/V .tkWhr (b) 1000 kWhr (¢c) PtkWhr (d) 3600 kWhr
1.5Q
1Q
_WV_
A 1Q
o—AAM—
_IW\,_
1Q
Equivalent resistance between A & B, in the figure above is
(a) 1.875Q (b) 2.875Q (c) 053Q (d 2.125Q

Norton equivalent of the circuit given below is

3Q
e
3Q 6Q
20V 10V
9Q 5Q
A W
@ ®3ov ® v
© ®iov 350 @ @M2a 350

16. In the given circuit, inductances L, and L,, if L, = 2L, and Leq 1s 0.7 H, are
L,
o Leq >
(a) 0.4 H and 0.8 H respectively (b) 0.6 H and 0.3 H respectively
(c) 0.8 Hand 0.4 H respectively (d) 1.0 H and 0.5 H respectively
Series-A 6 KAU-08
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13. U SUHOT i foR[d ST TUd, STafh ST Aok Wik P a1 & 3 30 ST Siftd aiedst I ¢
T & feTu o ST, g

(a) P/V .tkWhr (b) % kWhr  (c) PtkWhr (d) % kWhr
14. 15Q
1Q
——AAA——
A 1Q
o—AAWN—
L AAA—]
1Q
FW 53 T fo o A R B % & SHded Uiy &
(a) 1.875Q (b) 2.875Q () 053Q d) 2.125Q
15. = 53 7 uRaer 1 A IEded |
v
30 6Q
20V 10V
9Q 5Q
A WA
@ ®3ov ® v
© v 350 ) ®2a 350
16. & 7 ARwe H, IR Ly AR Ly, AW Ly =21, R L, 0.7 HE &
05H o
Leg
(a) 0.4 H 3 0.8 H HAER (b) 0.6 H 31X 0.3 H HAMER
(c) 0.8 H 3T 0.4 H HAMER (d) 1.0 H 3¥ 0.5 H AER
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17.

Vs

Thevenin equivalent of the above circuit will be

R,+R,
@ Vs O ® Vs O

R, +R,
© Ve O @ Vs O

18. In a six pole motor, 4 mechanical degrees is equal to
(a) 4 electrical degrees (b) 2 electrical degrees
(c) 8electrical degrees (d) 12 electrical degrees

19. An ideal synchronous motor has no starting torque because the
(a) Rotor is made up of salient poles.
(b) Relative velocity between the stator and rotor mmfs is zero.
(c) Relative velocity between stator and rotor mmfs is not zero.
(d) Rotor winding is highly inductive.

20. Ata slip of 4%, maximum possible speed of a 3-phase squirrel cage induction motor is

(a) 2880 rpm (b) 3000 rpm (¢) 1500 rpm (d) 1440 rpm

21. If the stator winding of a three-phase induction motor is delta connected, the rotor winding
(a) should be delta connected (b) should be star connected
(c) should not be delta connected (d) may be delta or star connected

22. Synchronous motors are to be used in situations where
(a) The load is constant.
(b) The load is required to be driven at very high speeds.
(c) The load is to be driven at constant speed.
(d) The starting torque requirement of the load is very high.

23. When excitation of synchronous motor is increased upto normal excitation from under
excitation, armature current
(a) increases (b) decreases
(c) remains constant (d) None of the above

24. In a synchronous motor, damper winding is provided to
(a) stabilize rotor motion (b) suppress rotor oscillations
(c) develop necessary starting torque (d) (b) and (c) both
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17. >
1Ql
W T3 T3 uRuer 1 gatE guded 8
Ri+R;
@ V5O b V5O
R;+ R,
. Rk,

© VO @ Vet O
18. UF ©: ¥d AT U, 4 Fit3eh fell s/eR &

(a) 4 Todia et & (b) 2 ferrda feult &

(c) 8 Tereeira fevit = d) 12 T fesht %
19. U 3MSY qodehlel AT § g RIH FoT el glar, Fifh

(a) VX VAT T T BATE |

(b) X IR WX & T mmf T WU I T Bl § |

(c) X 3 WL % T mmf i IUeT T I T et € |

(d) e FUESH! 31T IRhed Bl ¢ |
20. U oot fisRy ko wie @i stfeham duifad T gt st fhaer 4% &

(@) 2880guMm. (b) 3000g¥mM™m.  (c) 1500 F A (d) 1440 9u.
21. 3T F-Foli IROT HieX il WX FHUScH ol H eI §, af WX FHueal

(a) S H S B ey | (b) WRH LI T =T |

(c) w1 H Sl Fél g A1y | (d) <or a1 @R St off TR § S[et gl =@fen |
22. OISO HieX 1 SUGNT 3 et & feram ST &, St

(a) YRfEReE |

(b) YR I g 3TTH T W TeA hl LT &l |

(c) YR &I f7ae a9 =A™ i SArereehan & |

(d) ¥R = STRE TA-STET S TR TGl 39 &l |
23, ST JoIshTel HieY T SUSH e 3TN 9 W ST o SgidT STl ¢, e 3THeR €T

(2) el ® | (b) =AE |

(c) feRwEds | (d) = F BT
24. U ToAHCA HIeT H, TER FUESH Bl &

(a) OIS T T BT TR FA & ferw

(b) oI T T THA HH & T

(c) 3ToRTH RN FATYT I H o [T

(d)  (b) @ (c) ST
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25. Direction of rotation of three phase induction motor can be reversed by
(a) interchanging connections of any two phases
(b) disconnecting any one phase
(¢) (a)and (b) both
(d) None of the above

26. Variation in dc excitation of a synchronous motor causes variation in
(a) Speed of motor
(b) Power factor
(c) Armature current
(d) Both armature current and power factor

27. Reduction in supply voltage by 10% will change the torque of an induction motor by
(a) 38% (b) 19% ©) 9.5% (d) No change

28. The step angle of the stepper motor is 2.5°. If the stepping frequency is 3600 pulses per
second, then the shaft speed will be
(a) 144 rps (b) 3600 rps (c) 251ps (d 25r1ps

29. A 3-phase, 50 Hz, 500 V induction motor develops 20 hp at slip of 5%. Mechanical losses
are 1 hp, and stator loss is 1 kW. The efficiency will be

(@) 95.3% (b) 90.5% (©) 91.3% (d 85.3%
30. The electric motor used in toys is

(a) capacitor start motor (b) split phase motor

(c) shaded pole motor (d) None of these
31. AC servo-motor is basically a

(a) Capacitor motor (b) Two phase motor

(c) Three phase motor (d) Universal motor

32. Crawling in an induction motor is due to
(a) Space harmonics produced by winding currents.
(b) Time harmonics in supply.
(c)  Slip ring rotor.
(d) Insufficient starting torque.

33. A shaded pole induction motor does not have the advantage of
(a) Rugged construction
(b) Low initial as well as maintenance cost
(c) High starting torque
(d) Comparatively small starting current

34. In three phase 400 volt, 50 Hz supply, the phase to neutral voltage is

(a) 220 Volt (b) 230 Volt (c) 440 Volt (d) 150 Volt
35. Integration of unit ramp function gives

(a)  Unit parabolic function (b)  Unit ramp function

(¢)  Unit doublet function (d) None of these
36. In house wiring, Black & Green wires indicate

(a) Earth & Neutral respectively (b) Phase & Neutral respectively

(c) Phase & Earth respectively (d) Neutral & Earth respectively
37. Ferranti effect on long overhead lines is experienced when

(a) the line is highly loaded. (b) the power factor is unity.

(c) the power factor is leading. (d) corona effect is dominated.

38. A 10 kVA, 400 V/200 V, single-phase transformer with 10% impedance, draws a steady
short circuit current of
(a 50A (b) 150 A (c) 250A (d 350A

Series-A 10 KAU-08

https://www.freshersnow.com/previous-year-question-papers/



25. U Frehett IR0 e & gae o feen uRafad @t S et &
(a) T2l ST Tl o TS T STAIRATIT Hieh
(b)  TorElt Tk T o AT Bl BT
() (@M (b)TEN
(d) ST H QBT Tél
26. TS qoAHCH TieX & fT.41. IS § UReeH o HRT = § g i
(a) WX H A H (b) IR OIS |
(c) SR 4 H (d) SR GRT e YR T <A |
27. TEAE dieeSt H 10% i HHT 3T W IR0 [l % 0 § S8erd e
(a) 38% (b) 19% ) 9.5% (d) T ST Tl
28. TS W T H LY HI0T 2.5° ¥ | g LA 3mgfa 3600 T Ui Yshvs &, af I i id et
(a) 144 rps (b) 3600 rps (c) 251ps (d 25r1ps
29. T frebet, 50 Hz, 500 V IR0T HieX 5% e o 20 hp foeiad et & | gifes gfat 1 hp €
qAT LT B 1 kW & | o7l &t
(@ 95.3% (b) 90.5% () 91.3% d) 85.3%
30. factT 9 uge e arett foed qeX &
(a) e TR HieX (b) TerTer s HIeY
(c) TS ya AT (d) =99 9 HE T
31. TH. gal-qel ol 9 9 & Th
(a) WIORFTARR (b) FFAF AR () BAFa@AR  (d) JHIGSA T
32. W1 HIEX § T 1 HROT &Il &
(a) FUSH! 9RT W 3U W gHiAF (b)Y H THA STHIH! T T
(c) @t =TT TeX (d) T SR ot
33. U DEITH gd W1 HieX H D F o &l & 2
(a) oS FeoT (b) T URTTS T TEETE AT
(c) = WRIW oot (d) 3TN A ARFH 6T
34. TS AT 400 diee, 50 Hz TiE &, &t ¥ 2o o ard dieest g
(a) 220deT (b) 230 Tce (c) 440 die= (d) 150 3=
35. gHe T Fol % T § U @i &
(a) e Wi wer (b) FME T weH
(c) JHe SIAe HoH (d) TH I PE @&
36. TR ! AR H oA OAT B AR ST T &
(a) 37 TqAT A A (b) ST AT A THATT:
(c) ST 9T 3T SHAST: (d) —ggeT a3 SHET:
37. oSl oS ArEAl W W TS Gt gl €, At
(a) TEAWUR FHE | (b)  IieRT TUTIS T & |
(c)  SIfeRT TJUTIeh STATIEY & | (d) SR YT B THET @ |
38. @10%1(VA, 400V/200V THheT-heTl ZEHHET STEeh! Ufaamer 10% €, s fer ofg aiiwer an
(a 50A @ (b) 150 A =t () 250 A =t (d) 350 A =l
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None of these

69 kA

15 kQ

39. Kick fuses are used across relay coils to prevent relay operation during
(a) Heavy external faults
(b) Inrush current of transformer when they are energised
(c) Line to ground faults
(d) Bolted faults
40. For a fuse wire of diameter ‘d’, fusing current is proportional to
(a) \/a (b) d1.2 (C) d1.5 (d)
41. Differential relays are used for the protection of equipments against
(a) Internal faults (b)  Over current
(c) Reverse current (d) Reverse power
42. A 3-phase circuit breaker is rated at 1250 A, 2000 MVA, 33 kV, 4s. Its making current
capacity will be
(a) 35kA (b) 89 kA (c) T79KkA (d)
43. Main function of the fuse is to
(a) Protect the line (b)  Open the circuit
(c) Protect the appliance (d) Prevent excessive current
44. Distribution voltage levels in India are
(@ 11kV,400V,3¢ (b) 33kV,11kV,3¢
(c) 220kV,11kV,3 ¢ (d) None of the above
45. By burden on the relay, we generally mean
(a)  Current rating of relay (b) Voltage rating of relay
(c) Volt-ampere rating of relay (d) Watt rating of relay
46. In a static over-current relay, inverse time characteristics are obtained by
(a) A differentiating circuit (b)  An integrating circuit
(c) A transistor amplifier (d) A transistor switch
47. At atmospheric pressure, the dielectric strength of SF is about
(a) 2.5 times of air (b) 2.5 times of oil
(c) 2.5 times of vacuum (d) None of the above
48. Mho relay is
(a) current restrained current relay.  (b)  voltage restrained directional relay.
(c) current restrained directional relay. (d)  voltage restrained current relay.
49. Main purpose of oil in OCB is to
(a) provide insulation (b) provide cooling of contacts
(c) quenching arc (d) None of the above
50. Which of the following circuit breaker is generally used in railway electrification ?
(a)  Air Blast circuit breaker (b) Minimum Oil circuit breaker
(c) Bulk Oil circuit breaker (d)  SF circuit breaker
51. Isolators are used for disconnecting a circuit when
(a) Line is energised (b) Line is on full load
(c) Line carries no current (d) Can be operated under any condition
52. The transmission line feeding power on either side of the main transmission line is called
(a) Secondary distribution (b)  Secondary transmission
(c) Primary transmission (d) Primary distribution
53. What is the approximate value of average resistance of a human body ?
(a) 1kQ (b) 5kQ (c) 10kQ (d)
54. The skin effect of the conductor increases the effective value of
(a) Inductance of the conductor (b) Resistance of the conductor
(c) Capacitance of the conductor (d) None of these
Series-A 12
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39. ok IR Rel RO i T=M & e Rel Foeferdt & SRR foheh W 1w TR ST & 2

(a) Y ST (b) AR i dE GRT ST I Hiold & |
(c) g § STHA T 31 (d) dwees 3w

40. TF ‘d A & T IR Bl FRHT GRT SFHATI 2l &
(a ~[d¥ (b) d'2% ) d'5% (d) =T 9 HE T

41. fewiforaet et =6 van frafatad & foeg SueRtol = geem g ear e
(a) oTARE T (b) IEF U (¢) TawRia ¥w (d) fawa wfe

42. T 3-%heT qROY foresees ot AT 1250 A, 2000 MVA, 33 kV, 4s &, o 38! AT 9rT &

&THCT B

(a) 35kA (b) 89 kA (c) T9KkA (d) 69KkA
43. TS H T HE BT

(a) AT I G HA | (b) URTY I e |

(c) SUHIUT ST F&T FHEAT | (d) oTcaryeh ToRTenT ol AT |
44. RA ¥ TRl foeron fof Aeest W T ST & 2

(@ 11kV,400V,30 (b) 33kV,11kV,30

() 220kV,11kV,3¢ (d) T 9 e T
45. o1 W e 9, AHAR O ART AT B ©

(a) oot = Taegaemy &6 e (b) Tt =i dieest i AT

(c) Tt =l Sceufimer = e (d) =t =t are e
46. TH T HA-HE Nt § SohH T SRR i T fo6m ST &

(a) U Fevrfmafen aferr & (b) e e o &

(c) TUH T Uays 9 (d) U IR = g

47. AgHVSAE 31 W, SF, o WAy v o &
(a) areg@z.sw(%) FAY25T  (¢) FEQT25TM (d) TH Q BE T

48. wWIRAE

(a) W%@%’Wﬁﬁ (b) et T I et
(c) e T8 SRR et (d) deRs W e et
49. OCB ¥ et T J&F 33399 &Il &
(a) T &% foT (b) TEIH H TS UGH H & [oTT
(©) H T HH & AT (d) T 9 HE T
50. T9=1 9 9 o A1 0 foredseh QRO Io7e fagdieeor | v o ST € 2
(a) TR =< 9 [a=3h (b) TFTT Ee ao
(c) o 3aer 1Y fowsss (d) SF, u foresseh
51. ToowTeR! 1 SUANT URuY i fates~ e § a9 o ST €, ST
(a) oA ST 8 | (b) TS I AR WA |

(c) A H fogaemT F&l yefeq el i &l | (d)  fopdt off ufifeafa & SuaiT &Y @ € |

52. T HEROT % AT R § GiaY Tt s oot Geor st el Sl &
(a) TgaEs oo (b) GAEs TRTT (¢) WEHE EEReT (d) e faaron

53. U Od YRR o 3 TieRier oI fohe gier & 2

(a) 1kQ (b) 5kQ (c) 10kQ (d) 15kQ
54, Todr =TeTeh o1 feh ovre 17 | 9 fohdeh Uil |1 &l @rar & 2
(a) T T Uehed (b) =TT T WY
(c) =TeTeh W LTar (d) T I HE T
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55.  Which portion of the transmission system is more prone to faults ?

(a) Alternator (b) Transformer

(c) Overhead lines (d) Underground cables
56. The insulation strength of EHV lines is mainly governed by

(a) Switching overvoltages (b) Lightning overvoltages

(c) Power frequency overvoltages (d) Dynamic overvoltages
57. Pilot relaying schemes are used for the protection of

(a) Bus bars (b) Transformer

(c) Instrument transformer (d) Transmission line
58. The restriking voltage is measured in

(a) RMS value (b) Peak value

(c) Instantaneous value (d) Average value

59. In an n-bus power system, considering n-nodes network, the size of y, . is

@ m-1)xm-1) (b) (m+1)x(m+1)
(¢c) nXn (d) 2nXx2n

60. Which fault gives rise to symmetrical fault currents ?
(a) Single line to ground fault (b) Line to line fault
(c) Double line to ground fault (d) Three phase fault

61. Typical solar cell efficiency is

(a) Lessthan5% (b) 12%to25% (c) 30% to 40% (d) More than 50%
62. India receives solar energy in the range of

(@)  5-7 kWh/m? for 300-330 days in a year

(b)  50-70 kWh/m? for 300-330 days in a year

()  5-7 kWh/m? for 200-230 days in a year

(d) 50-70 kWh/m? for 200-230 days in a year
63. Biogas comprises mainly of

(a) 60% oxygen and 40% carbon dioxide

(b) 60% oxygen and 40% methane

(¢) 60% methane and 40% oxygen
(d) 60% methane and rest carbon dioxide

64. Global warming is mainly due to
(a) Emission of heat from engines
(b)  Emission of CO, due to burning of fossil fuels

(c) Use of nuclear energy
(d) Air pollution

65. The possible site for Geothermal energy extraction for the purpose of electricity in India is

(a) Madhya Pradesh (b) Kerala
(¢c) Tamil Nadu (d) Assam
66. Horizontal axis and vertical axis are the types of
(a) Nuclear Reactor (b) Wind Mills
(c) Bio Gas Reactor (d) Solar Cell
67. The Fill Factor of a silicon solar cell is approximately
(@ 1 (b) 0.7 (c) 0.5 d O
68. Major share of power generated in India is through
(a) Thermal Power Plants (b) Nuclear Power Plants
(c) Hydro-electric Power Plants (d) Solar energy
Series-A 14 KAU-08
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55. TEROT T I DA T A HOT I OTT AT G Biar & 2
(a) ITEHI (b) TEHTR (c) PRUR @ (d) T et
56. EHV AT & Tgeiv 1iskd g ®0 9 il gl &
(a) ﬁaf%maﬂa@@mﬁ (b) dfed Sfiardiees gRT
(c) TR oTgha sfierdieest g1 (d) TIiaRieT SferaieesT gRT
57. e s @ g s9re % fow v gt 8§ 2
(a) TR (b) TEHTR (c) USRI TEHHT  (d) TOROT AR
58. -rEfHT dieest At ST &
(a) °SIRTHTE A9 H (b) PERTEH
(c) aeIoes 91 | d) dAe@I=E
59. UH n-99 "o (9% H, n-AIS F2aeh 9 S, y, 3BT B
(@ m-1)xm-1) b)) (+Dx@m+1)
() nXxXn (d) 2nx2n
60. ﬁ?mw&mﬁﬁmﬁagﬁmw%? .
(a) T Holl YIS (b)  TEeheT oTguer
(c) 5ot s uew (d) FrepoT oTeme uRiY
61. T yfqedl Hio” Uol i <&l &
(a) 5% T FH (b) 12%%¥25% (¢) 30% T 40% (d) 50% 9 3t
62. YR U B aTelt G 31 ol W
(@ 5-7kWh/m2, 300-330 G @ a0 & (b)  50-70 kWh/m2, 300-330 &7 Ut a9 &
() 5-7kWh/m2,200-230 R uF a9 & (d)  50-70 kWh/m2, 200-230 {57 e a9 &
63. IENE H =T w7 9 Aimfed €
(@) 60% IS T 40% e SEAFILS
(b)  60% IS T 40% T
(c) 60% BT AT 40% A=
(d) 60% BT 3R Y He SEIRITS
64. T ST T YT HRT &
(a) TS §RT ST 1 Sewi (b) STemRH g6 % StoH d CO, 1 o=
(c) NI FoTl T WA (d) =g ugEe
65. - St 1 foRgd &G T A & oAU i | S YR § T & 2
(a) TF US| (b) FA (c) drHerTg (d) 3w
66. &fdsT 3787 T i 3787 fomdeh UHR & 2
(a) TR RuET (b) 9o et (@) (¢) @ Ruger (d) IR A
67. TafcTs HioR AT ol Tthet thered oI 2T &
(@ 1 (b) 0.7 () 05 d 0
68. RA T TosTell SeUE 1 JT f6ar sh gRI ¢
(a) g forera Gt (b) TRHT] JTT A
(c) TA-Tostel faege ga=t (d) IR
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69. Match Lists L-I and L-II below, in respect of India’s installed capacity of non-
conventional energy, as on date.

L-1I L-1I

1. Solar Power A. 2800 MW
2. Wind Power B. 3063 MW
3.  Bagass Cogeneration C. 1365 MW
4. Biomass Power D 22,465 MW

1 2 3 4
@ A B C D
(b) B A C D
co D B A C

@@ B D A C

70. When a body reflects all the radiations incident on it, then the body is known as
(a) White body (b) Grey body
(c) Black body (d) Transparent body

71. A diesel power station spends 0.25 kg/kWh fuel. If the calorific value is 10,000 kcal/kg
then overall efficiency of the power station will be

(@) 25% (b) 30% (c) 34.4% (d) 100%
72. Admittance is the reciprocal of
(a) Impedance (b) Reactance (c) Susceptance (d) Inductance

73. Aninductor at t = 0" with zero initial conditions acts as
(a) shortcircuit (b) open circuit (c) currentsource (d) voltage source

74. In the circuit shown, if we connect a source of 2 volt with internal resistance of 1 Q at
AA’ with positive terminal at A’, then the current through R is

1Q
AM o A’
CT 1A g]g §R=ZQ
o A

(a 2A (b) 1.66 A ¢ 1A (d 0.625 A

75. Which of the following statements pertains to resistors only ?
(a) They oppose sudden change in voltage.
(b) They can act as energy storage device.
(c) They can dissipate desired amount of power.
(d) None of the above.

76. What is the maximum number of points of light, fan and socket-outlets that can be
connected in one sub-circuit ?

(a 5 (b) 10 () 20 (d 30
77. Minimum distance of underground cable from the foundation of building should be
(a) 100 cm (b) 50 cm (¢) 10cm (d Scm

78. Official systemetic, scientific study of energy consumption by the related organisation for
cost reduction and energy conservation is

(a) energy policy (b) energy audit
(¢) (a)and (b) both (d) None of the above
79. The type of wiring that is highly suitable for a temporary shed is
(a) Cleat wiring (b) Wooden capping and casing wiring
(c) Lead sheathed wiring (d) Conduit wiring
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69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

YR St TR-TLIRITA 11 bl SIS T7eh T AT o et § gt L-1 3R L-11 e sifse
L-1 L-1I

1. 9w A. 2800 MW

2. B. 3063 MW

3. 9 HISEE C. 1365MW

4, D. 22,465 MW

e U fque qudt et fafseor i wrataa & dr ¢, ot fuvs e &
(a) WHE U (b)) WA TOUE  (c) AW fuve (d) URGeM g

TS SISl Uiay WA # 0.25 kg/kWh 8 =9 g1 € | 3fg €6 &6 S 919 10,000 keal/kg &,
ql Ufa WA I FoT eIl &

(@ 25% (b) 30% (c) 34.4% (d) 100%

TEYIAT (TSMHIT) THHT ehH &Il & :

(a) WiqaTer (3re=T) (b) e (Ruse=)

(c) 3AeHicad TEa (THH) (d) WH (TTHF)

TRTRTS 3T I i 390 H, t = 0F U Uh ULeh TH UK T Xl ¢
(a) oY URU" (b) et Uk (c) Torraemy & (d) fovra &

T 7Y 9RO |, I EH AA’ & e 2 V 94T A Uiade 1 Q &1 i i ST9eh! eeqes
et A7 W E, Ot R | 9RT 8n

10
AN o A’

1A g‘ﬂ §R=ZQ

° A

(a 2A (b) 1.66 A (c) 1A (d 0.625A

17 & | S 91 U Aol ierigl % o g ?

(a) 3 fowa & e qied %1 foiy d € |

(b) T Tl HSROT kAT & €T H B A € |

(c) 3 Tifod R T &7 T el & |

(d) ST § § B TR

T ST-URYY B ST ST Tehe aTet TehIeT, UG qT Fiche & (oI5t oht tferehes Team o1 € 2
(@ 5 (b) 10 () 20 @ 30

ferdll e b <ifer & YT Hieret bl B9 W HH G Bl wfey

(a) 100 94t (b) 50 |t (c) 109Hr (d 594

T FHH B TE o7l GRRIT o oAU, Wit TS gRT fehal T SMehiieh TRuTeg, Sk 3Ted &
(a) Fomdfa (b) TN T

(c) (a) T (b) AT (d) TH I PE @

IETE U o ToIu Hefifursh U amafer s 9t gl & 2

(a) Il aENT (b) TSI T KU TAT BT FTAT AT
(c) dE vitde amra (d) wege aEf
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80.

Current i, in the figure will be

/=4mp
>. N .
i,=2.5 amp \ iy

i3 =2 amp

(a) 13 amp (b) 0.5 amp (c) 4.5amp (d 8.5amp
81. Find power absorbed/delivered by 120 V source.
300 | 30V
AV |-
+
120 V= § 150
(a) 120 watts (b) 240 watts (c) 2 watts (d) 1 watt
82. In the circuit, Vg is
2Q
+
Vs _C) +
402 8V
(a) 8V (b)y 10V (c) 12V d 16V
83. The characteristic equation of the series RLC circuit is
MWV Wj_
R L
_|_ C
@ S?2+(LC)S+R/L=0 b) S2+(1/LC)S+L/R=0
() S?+(@/R)S+LC=0 (d S?+@R/ML)S+1/LC=0
84. A network has 10 nodes and 17 branches. The number of independent mesh equations
required to solve the network is
(a 7 (b) 8 (c) 10 (d 45
85. Which of the following elements is not bilateral ?
(a) Resistor (b) Inductor (c) Capacitor (d) Transistor
86. Each branch of Y-connected load has resistance of 10 Q. The resistance of each branch of
an equivalent A-connected load will be
(a) 30Q (b) 100 Q (c) 110Q (d) None of these
87. In applying superposition theorem, to determine branch currents and voltages
(a) all current and voltage sources are shorted.
(b) only current sources are open circuited.
(c) only voltage sources are shorted.
(d) voltage sources are shorted and current sources are open circuited.
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80. o © & i, &1 A &M
/4,:4@1‘
N
iy=2.5Tm, Iy
iy =21,
(a) 13w, (b) 0.5Twm, (c) 45T (d) 8.5Tm.
81. 120 V | gRT Md/vE™ o T1d HieT |
300 30V
AAMY |-
120\/3;__ 2150
(a) 12047 (b) 2403 (c) 24 (d 14
82. URWIH V HAWE
. 20
VS_C) +
40 8V
(a 8V (b) 10V (c) 12V d 16V
83. SuftseH RLC ufkuy o1 afyres/stiyemeaiones Teieor &
ANV "mm\—_l
R L c
(a) Sz+(LC)S+R/L:O (b) Sz+(1/LC)S+LR:O
() S2+(L/R)S+LC=0 (d S?2+[R/ML)S+1/LC=0
84. TH UG A H 10 A€ 97 17 IM@T & | IRGY SA B A Hi o foAw fohet s T
HHHTOT sl STEreTehal &I 2
(@ 7 (b) 8 (c) 10 (d) 45
85. = o @ 3 &1 dq fgwfas @i ¥ 2
(a) wicRY (b) W (c) @i d) gz
86. Y W I U R I U S § 10 Q &1 Wiy & | 39F THIeT A § 5[ §U ¥R &t Tedeh ST |
giaare g
(@ 30Q (b) 100 Q () 110Q (d) T | P T@él
87. STHRIUT THA TN THA, T GRIST T4T oS i [ A & o7
(a) T YR qAT SieesT Al i o AR fhar ST € |
(b)  HEeT URT BT T AT TR fhaT ST € |
(c) et dieesT Al T o7 IRTY fohaT ST € |
(d) eSS | i o1 URTY TAT GRT B 3t Goll TR foham ST & |
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88.

In the circuit, the maximum power that can be transferred to Load Z; is

10 Q

10 = ©) ]z

10+(2 sin(1000t)

10 mH
(a) 250W (b) 500 W (c) 1000 W (d) 2000W
89. The material used for fuse wire should be of
(a) low resistivity and high melting point
(b)  high resistivity and high melting point
(c)  high resistivity and low melting point
(d) low resistivity and low melting point
90. It is desired to illuminate a drawing hall with an average illumination of about 250 lux.
The area of hall is 30 m x 20 m. The lamps are to be fitted at 5 m height. Find the number
and size of incandescent lamps required for an efficiency of 12 lumen/watt. Utilization
factor = 0.4 and maintenance factor = 0.85.
(a) 40and 1000 W (b) 20 and 500 W
(c) 60and 1000 W (d) None of the above
91. Battery operated scooter for braking uses
(a) plugging (b) mechanical braking
(c) regenerative braking (d) rheostatic braking
92. In spot welding, electric supply used is
(a) low voltage high current (b) high voltage low current
(c) low voltage low current (d) high voltage high current
93. In the process of refining of metals, the impure metal is made as
(a) Cathode (b) Anode
(c) Electrolyte (d) None of the above
94. Minimum clearance above ground of the lowest conductor of an overhead line erected
along a street for low and medium voltages as per “Indian Electricity Rules” is
(a) 4.5metres (b) 6.1 metres (¢) 6.5 metres (d) 5.5 metres
95. Synchronous capacitor is
(a) An ordinary static capacitor bank.
(b)  An over excited synchronous motor driving mechanical load.
(c) An over excited motor running without mechanical load.
(d) None of the above
96. In terms of cost, overhead transmission line is better than underground transmission line in
the field of
(a) Insulation (b) Rightof way (c) Visibility (d) None of these
97. Materials used in plate earthing are
(a)  Wood coal (b)  Salt, earthing plate
(¢) (a)and (b) both (d) None of the above
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88. Tfwer H, stk W S AR Z, H SHING I 1 Wehel 8, Bt

10Q

1= ™ [z

10~/2 sin(1000t)

10 mH
(a) 250W (b) 500 W (c) 1000 W (d) 2000W
89. ST % AR o 1T UENT 8 oot U= B =ieT
(a) T UTRIehdT qeT ST T (b) =T UCRIYHAT T 3T T
(c) o9 UTGRILhdT 9T Y T (d) T FfYeHdT qeT HH T

90. THdT LT BT BT TSI FA & AT SHAT AT 250 ART URIT Hl SEYIRAT & | BT B
ST 30 HI x 20 T & | T B 5 H. B S W ORI § | 12 TgHA/AIE B IBTT & oY
fohet oYl ot AT 9 AT =fET 2 SUANTAT o7 = 0.4 T TWREHE o7 = 0.85

(a) 40T 1000 W (b) 20T 500 W

(c) 60 @ar 1000 W (d) T I HE T
91. S =ietd W@heT | sieh T & T el &

(a) AR (b) itk sifsRT (¢c) YA sishT  (d) WiRiEs sieT
92, WiE Joed | TN 3 ol TS €

(a) 7= Srcear =2 9wy (b) 3=u dieear T U

(c) o= dicear = am (d) =9 dicear S 4RI
93, e % IGIHIUT Bl UIchAT B, 3T &7 i FT ST STl & 2

(@) el (b) T (c) FeIwIAES (d) T H FE T

94, “3feTT TOFITTS! Tod” & AR, (ohdl AT T fosTE T8 9 X Team dieedl aiel FRIAR A
% FaE A & AT BT R § FR FATT FAI ©
(a) 457X (b) 6.1 TR (c) 6.5HX (d) 5.5¥

95,  qodehIicTeh e &
(a) U ATYROT TATqeh G 5
(b) TH AT-ITAIA qodehITetsh HIeT ST AT IR ht Tl Tl ¢ |
(c) U 3Ffa-SAfTa Jearehiicrss AT S fomT Fifs YR & 9T W E |
(d) ST T F B TR

96. TINT & Tt H, SR T olg- YT HeRoT offe 9 39 63 H Jeci €

(a) SHATH (b) U H ABR  (c) A (d) T I HE T
97. e AN | AT o ST Aot uetd €
(a) RSl HEFET (b) T, AN W
(c) (a) T (b) THT (d) T @ P T
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98. The rating of fuse wire is always expressed in

(a) volts (b) amperes (c) ampere-volt (d) ampere-hours
99. An automatic power factor controller cannot achieve

(a) Voltage control (b) kVAR control

(c) kW control (d) pf control

100. A single phase energy meter has a constant of 1200 revolution/kWh. When a load of
200 W is connected, the disc rotates at 4.2 revolutions per min. If the load is on for 10
hours, the meter records an excess of

(@) 0.1 kWh (b) 0.2kWh (c) 1.0kWh (d) 2.0kWh
101. Aluminium conductor cables can be joined by

(a) Gas welding (b) Soldering

(c) Compression (d) Thermit welding
102. From the point of view of safety, the resistance of earthing electrode should be

(a) Low

(b) High

(¢) Medium

(d) The value of resistance of earth does not affect the safety

103. The insulating fluids that are commonly used in circuit breakers is/are
(a) SFg (b)  Air at atmospheric pressure

(c) Compressed air (d) All of the above

104. Which of the following test is carried out to ensure the sufficient strength of insulation
between two or more conductors to avoid leakage between them ?
(a) Testing of insulation resistance between wiring and earth
(b) Testing of insulation resistance between conductors
(c) Testing of polarity of single phase switch
(d) Testing of earth continuity path

105. An isolated sphere has a capacitance of 50 pf. If its potential is raised to 10* volts, radius

and charge will be respectively. Given that Ane. = 9 x 107 m.
0

(a) 54cm,0.5uC (b) 4.5cm,5.0puC

(¢) 45cm, 0.5 uC (d 54cm,50puC
106. Which distribution system is more reliable ?

(a) Ring main system (b) Tree system

(c) Radial system (d) All are equally reliable.
107. HV transmission lines use

(a) Pin type insulators (b)  Suspension insulators

(c) Both (a) and (b) (d) None of the above

108. For proper earthing, what should be the maximum value of earth resistance while carrying
out the testing of earth continuity path ?

(@ 1Q (b)) 2Q (c) 5Q (d 10Q
109. The advantage of using pulverized fuel include
(a) Higher boiler efficiency (b) Easy and complete combustion
(c) Low air requirement (d) All of the above
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98. T RIS ATAT H ST FH T A & ‘ .
(a) e H (b) TR H (c) UHRAREH (d) UfmEREaH

99. T W AR oI T e e & .
(a) e =0 9 (b) KVAR fereor &
() kW o (d) pf FEor
100. TS T FHAT FHoil HieX T Reriw 1200 guH/kWh € | 5/ 200 W ST IR STIeT 74, af Feht

U T 4.2 GO Ui e & S € 1 3fg IR @ 10 5 I 31T W@ S €, o Hiex fhar
AR Sotl @Ud LA 2

(a) 0.1 kWh (b) 0.2 kWh (c) 1.0kWh (d) 2.0kWh
101. TMAMIT FHrede hHiael Bl SIS ST bl &

(a) T IATST gRT (b) WS ERT

(c) THEIYH R (d) offe afceT g
102. TR HI 2 W, - TAFIS T Y BT TfeT

(a) =H

(b) SEwRT

(c) H&EH

(d)  STHIFY HeRTE BT T TR T TITed el Bl |
103. TrEd: aRay foedeent | v femar ST arer wferidr aver uere &8
(a) SF, (b) TIHAISHA TS TR &l
(c) Hifed ga (d) TE o
104, FfeREd qLieTor § 9 i 91 IeT0T, 31 A7 3 9 AT ATeishl % 6 SgeIe i TaTe ST h
gFfeaa s & for fopar strar & 2
(a) T o Yl % HeF TGOV UIaRie ST OXeqor
(b) TR % HET T VTLIe T GLI&ToT

(c) Tt =oT feae &l T gHeToT
(d) el STfae=aT T UXIeToT

105. o gorapd et i GIRaT 50 pf & | A ST faver sgree 10* diee 3 fear s, at fosan wa
1

mmzmﬁm%%m =9x10°m
TCEO
(@) 54cm,0.5uC (b) 4.5cm, 5.0 uC
(c) 45cm, 0.5 uC (d 54cm,5.0uC
106. = G foreor goredt s9reT faveaaig & 2
(a) TG1 = voTedt (b) 2 vomeR .
(c) feaet vomet () T T e faveeE €
107. Hv@ﬁ?mﬁmm% ' '
(a) 2T T (b) T TR H
(¢)  (a)TT (b) I 1 (d) T F HE T
108. mﬁfaﬁﬁaﬁv%fa@ J-ITARTY ST SAIRHAT A FT &A1 e ST - a7 <1 uRietor fopan
ST YT 'l 2
@ 1Q b 2Q ) 5Q d 10Q
109. IO ST F AT T H &
(a) =9 AR T8Il (b)  3TE 3R YT &
(c) Y & I AR (d) & |l
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110. 1 Ton (unit of air conditioning load) in terms of kW is

(a) 3.5kW (b) 4.7kW (c) 12kW (d 10.5kW
111. In steam locomotive, electric power is provided through
(a) Battery system (b) Diesel engine generator
(¢) Overhead wire (d) Small turbo generator
112. Which of the following methods of heating is not dependent on the frequency of supply ?
(a) Induction heating (b) Dielectric heating
(c) Electric Resistance heating (d) All of the above

113. A single-phase AC arc welding transformer supplies approximately
(a) 100 volts at 0.35 power factor (b) 60 volts at 0.35 power factor

(c) 220 volts at 0.8 power factor (d) 100 volts at 0.6 power factor
114. Long distance railways use for their electric traction
(@) 200V dc (b) 25 kV single phase ac
(c) 25kV two phase ac (d) 25kV three phase ac
115. Which type of motor is used for elevators ?
(a)  Synchronous motor (b) Inductor motor
(c)  Split phase motor (d) All of the above
116. Minimum wind speed required for generating electricity in a wind mill is
(a) 15 m/hour (b) 1 km/hour
(¢) 15 km/hour (d) None of the above
117. The rotor of a stepper motor has no
(a) Winding (b) Commutator
(c) Brushes (d) All of the above
118. The colour having shortest wavelength in the following is
(a) Yellow (b) Blue (c) Orange (d) Green
119. A synchronous motor is essentially a motor with
(a) Constant speed (b) Leading power factor
(c)  Unity power factor (d) Lagging power factor

120. At low values of slip, the torque of an induction motor is
(a) directly proportional to the square of the slip.
(b) inversely proportional to the square of the slip.
(c) directly proportional to the slip.
(d) inversely proportional to the slip.

121. An infinite bus-bar has
(a) constant voltage (b) constant frequency
(c) infinite voltage (d) Dboth (a) and (b)
122. If the supply frequency of a 3-phase induction motor is ‘f’, then frequency of rotor emf at
motor slip ‘s’ will be
(a) sf (b)) (1-9)f (c) fIs (d) None of these
123. If a four pole synchronous generator driven at 1500 rpm feeds a 6-pole induction motor,

which is loaded to run at a slip of 5%, then speed of the motor will be
(a) 1000 rpm (b) 950 rpm (¢) 1500 rpm (d) 1450 rpm
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110. 1 27 (STAMEAT IR B h1E) kW S STl J &

(a) 3.5kW (b) 4.7kW (c) 12kW (d 10.5kW
111. W wArbmie o, o v v i it &

(a) S Yol §RT (b) TISTA o9 AN §RT

(c) TRmURar gw (d) BT TS IR FRT

112. =1 5 @ &9 T amo= o Gty Iwelg & g W 4R T80 & 2
(a) WROT AT (b) W a™a  (c) Torgd wfaaret am= (d) 3 o

113. U Thel-SeAd TH, 3T Al JHBHET TATS Il & AT
(a) 100 e 0.35 iR TOTH T (b) 60 dtee 0.35 TfeRT OTH W

(c) 220 diee 0.8 IfeRT TOTH T (d) 100 e 0.6 TR TOTH
114. et g & Yot W farpd Suor & ferw vghT 6 ST &

(a) 200 V4 (b) 25 KV et et TH,

(c) 25kV fg-sem Tl (d) 25kV FFenTan
115. Wﬁmumﬁmawmm%? e

(a) qoFE (b)

(c) T e |ieX (d) TR

116. TH Yo TFh! | TR ScIRHA % T =gHam arg TIiq STevash &
(@ 15W/Ea (b) 1f®ed/Ea () 15@HEAaT () w9 3 FE T

117. U €W HieT & Tl § 721 el

(a) mEfeT (Puee (b) FE (fepufterish)

(c) O (d) Ta+d
118. 41 # 9 Ha9 %7 T aen T

(a) dem (b) e (c) A (d) &
119. TH BT A % [T oI T &

(a) =& Td FEd e | (b)  THHT STATHT VIferd T[OTIH &Il € |

(c)  THHI THIE Ve TUTH &A1 & | (d)  THRN ITH! VIR 7O &I & |

120. T&TT % 7 A W, UX0T T2 6 g7 BT &
(a) Tt & ot & GEEET (b) T EHaT &

(c) Tt % gUFIT (d) =TT % FeparaTd

121. U 3T SG-AR H B & '
(a) ferdaiest (b) feremm (c) 3 it (d) (a) T (b) I

122. 37 U 3-3eTT IROT T i UG g f° &, T Hie o JUr “s” W X [.a1d, i g arit
(a) sf (b) (1-s)f (c) fls (d) T F FHE T@él

123. 3w 1500 UM W FTART ST @ IR gAd oashelt A Uh 6-gard WRT TeX i it
AT 8, 511 o6 5% Teera I "o & forw i €, at |iee o6 iq gt
(@ 1000g¥M™m.  (b) 950 gu.f. (c) 1500 g.m.m. (d) 1450 g.mm.
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124.

Which of the following vapour/gas will give yellow colour ?

(a) Helium (b) Mercury (¢) Sodium (d) Magnesium
125. If the distance between the light source and the surface is reduced to half, the illumination
on the surface will
(a) reduce to half of the original. (b) reduce to one fourth of the original.
(c) increase to double of the original. (d) increase to four times of the original.
126. 80% Ni, 20% Cr is called as
(a) Constantan (b) Nichrome (c) Kanthal (d) None of these
127. Electric arc welding process produces temperature upto
(a) 1000 °C (b) 1500 °C (¢) 3500 °C (d) 5550°C
128. During the resistance welding heat produced at the joint is proportional to
(@ IR (b) kVA (¢) Current (d) Voltage
129. Which of the following motors is used in household refrigerators ?
(a) AC series motor (b) DC shunt motor
(¢) Reluctance motor (d) Single phase induction motor
130. The PLC was invented by
(a) Bill Gates (b) Dick Morley (c) Bill Landis (d) Tod Cunningham
131. Match the Lists L-I and L-II.
L-1I L-1I
1.  Bolometer A. Flow
2. H-Bridge B. Displacement
3. LVDT C. Radiation
4.  Anemometer D. DC Motor
1 2 3 4
@ C D B A
® D C A B
¢ A C B D
d D C B A
132. Which meter is suitable for the measurement of 10 mV at 50 MHz ?
(a) Moving iron voltmeter (b) CRO
(c) Electrostatic voltmeter (d VTVM
133. Programmable Logical controllers are the devices that were invented basically to replace
(a) Switches (b) Circuit Breakers
(c) Relays (d) None of the above
134. Load cell essentially is a
(a) Thermistor (b)  Strain gauge
(c) Photo-voltaic cell (d) None of these
135. Stranded wires are mainly used to
(a) reduce skin effect (b) reduce metal fatigue
(c) reduce proximity effect (d) both (b) and (c)
136. The method suitable for heating of a conducting medium is
(a) Induction heating (b) Indirect arc heating
(c) Eddy current heating (d) Resistance heating
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124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

= 9 9 = 9@ 9oy drer 37 99 2
(a) @i (b) TR (c) wfeam (d) TS

I Yo AT qAT Gefg % o ol g3 et Y < ST, A Tele I FEIo g

(a) AR (b) AR THAAE () JABMA TN (d) ToA B IR T

80% Ni, 20% Cr &l &d &

(a) HERT (b)) T (©) Foe (d) T 9 HiT =
ferega emeh AT ufshar & Sea= ATUEH 9T ehdT &
(@ 1000 °C (b) 1500 °C (c) 3500 °C (d) 5550 °C
Ty afeeT % IR WY WX S~ ST ST SThATIT el & :
(a) I’R (b) kVA (c) & (d) dieest
B H TN &4 ATl IReReT § i 9 Hied YA Bidl € 2
(a) AC JRIS AiX (b) DC ¥ Hex
(c) TR (d) TS AT IROT HeX
PLC & 3Mfashr foham a1 o1
(a) fATREER (b) fewaAcigR  (c) feacifemsmm (d) e H=m g
graar L-1 @@ L-11 &1 e &

L-1I L-1II
1. S A. YaE
2. H-fs= B. foemm
3. LVDT C. fafeor
4.  TAHEHERT D. SIE "X

1 2 3 4

@ C D B A
® D C A B
(¢ A C B D
d D C B A

50 MHz W 10 mV =i 919 & feTT i 91 HieT Sue & 2

(a) T AT AeEHET (b) CRO

(c) &R = deerer d VTVM

TITHEA AR Hreiofd 1 STMIshR Jol 9 F fohd Hfaeeniud 2= o faw gam o1 ?
(a) Tl (b) uRuy foresgent &l

() Tert= (d) T 9 HE @

e UeA AT BT € Th

(a) 9T (b) WA

(c) TIE-AeeES g (d) T 9 e T

T (Tfthe) ART I TRt ST v fohat ST &, aifh
(a) ThT UoTTe 1 Y TohaT ST 9 | (b) T &if I HA T ST T |
(c) UHEUIE R FATFI AL | (d) (b) TG () JAT

136. = I fafy =reTes AT H T HRA P [T S ¢ 2
(a) Uo7 AT (b)  3TceT 3T T
(c) e YT aTa (d) iRy e
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137.

A power plant has to supply loads as follows :

12 pm to 5 am = 500 kW; 2 pmto 5 pm = 2500 kW

5 am to 10 am = 800 kW; 5 pm to 8 pm = 2000 kW

10 am to 12 noon = 2000 kW; 8 pm to 10 pm = 1500 kW

12 noon to 2 pm = 1000 kW; 10 pm to 12 pm = 1000 kW
Total units during 24 hours and load factor will be respectively

(a) 51.66 units, 31% (b) 31k units, 51.66%
(c) 31k units, 33% (d) None of the above
138. A large size synchronous generator is protected against overloads by
(a) over current relay (b) mbho relay
(c) temperature sensitive relay (d) Buchholz relay
139. Earth resistance comprises of
A. Resistance of soil away from electrode.
B.  Contact resistance between electrode and soil.
C. Resistance of metal electrode
(a) Aonly (b) A and B only
(c) AandC only (d) A, B and C together
140. When cathode is positive with respect to anode in an SCR, the number of blocked p-n
junctions is
(@ 1 (b) 2 () 3 d 4
141. If a forward voltage (less than forward breakover voltage) is suddenly applied across
anode and cathode of a thyristor, it may result into
(a) Damage to the thyristor
(b) Premature triggering of the thyristor because of high dV/dt
(c) Reduced holding current of the thyristor
(d) All of the above
142. Match the List-I and List-1I below :
List -1 List - II
J D A. GTO
o—15
1. S
¢ B.  Thyristor
Go—|
2. E
D C. MOSFET
G
3. S
A D. SIT
G
4. K
E. IGBT
1 2 3 4
@ A C B E
® A B C D
¢ C E B A
@ C E D A
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137.

138.

139.

140.

141.

TS ek AT ol FEER 9 i s € -

12 pm ¥ 5 am = 500 kW; 2 pm ¥ 5 pm = 2500 kW
5am ¥ 10 am = 800 kW; 5 pm ¥ 8 pm = 2000 kW
10 am ¥ 12 S 319 = 2000 kW; 8 pm ¥ 10 pm = 1500 kW
1295 98" 2 pm = 1000 kW; 10 pm ¥ 12 pm = 1000 kW
24 6 H et S q1 AR 0TI SHHA: B

(a) 51.663FFe, 31% (b) 31%7?*1;??,‘51.66%
(c) 31T gte, 33% (d) T I HE T

Th o eI ST i SAieReAre T TR&T i St &

(a) 3R e et g (b) TR Ew

(c) T9H ot feet g (d) FHies Ret g1
J-UfeRTY o I BT &

A, 3ARIS U T U1 H Ay

B. Ioiegie adT 931 % ST THE HRRY

C. o] SoIaIE ol Uiy

(a) et A (b) FTAATITB (¢) FaAATNC (d) A, BT C

T SCR H, ST TS ! ot § HTS 6T &, o 3168 p-n GASH 1 T& &
(@ 1 (b) 2 © 3 d 4

IS Teh AR & TS TAT HATS & ard ST dieesT (ST Seheta diees ¥ HH) D
TE S, A7 TG GROTH &1 Wbl &

(a) TR T AU & |

(b) 3= dV/dt % FROT, AR F 7T F T3 TR AT |

(c) ITaNT Wl gifeeT URT H AT |

(d) ST T4 |
142. = St 1€ G-I qen Gei-11 H e i
it - 1 el - 11
1. JD A. GTO
Go—l
1,
2. C B. @&
Go—I
E
3. {D C. MOSFET
G
S
4. A D. SIT
G
K
E. IGBT
1 2 3 4
@ A C B E
®d A B C D
(¢c) C E B A
(d C E D A
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143.

The average gate power dissipation for an SCR is 0.5 W. Gate voltage variation is 2 V to
10 V. Which of the following is true ?

(a) Vg:2V, Ig:0.25A; (b) Vg:2V, Ig:0.0SA;
Vg=10V,Ig=0.05A Vg=10V,Ig=O.25A
(©) Vg =2V, Ig =10A; (d) None of the above

Vg:10V,Ig:2A

144. In a thyristor d.c. chopper, which type of commutation results in best performance ?
(a) Voltage commutation (b) Current commutation
(¢) Load commutation (d)  Supply commutation
145. For a symmetrical square wave of 800 V peak to peak and for ideal diode, the voltmeter in
the given figure will read
NI
L1
@) 10 § V) PMMC
(a) 200V (b) 400V (c) 800V (d) zero
146. The power supply whose output voltage varies with variation in input voltage or output
load current is known as
(a) Regulated Power Supply (b)  Unregulated Power Supply
(c)  Uninterruptible Power Supply (d) Switched Mode Power Supply
147. For an SCR, dV/dt protection is achieved by the use of
(a) RLin series with SCR (b) L in series with SCR
(c) RCin series with SCR (d) RC across SCR
148. SMPS are superior to linear power supplies in respect of
(a) size and efficiency (b) efficiency and regulation
(c) regulation and noise (d) noise and cost
149. A single phase, half-wave, controlled rectifier has 400 sin (314 t) as the input voltage and
R as the load. For a firing angle of 60° for the SCR, the average output voltage is
(a) 240/m (b) 400/m (c) 300/m (d) 200/m
150. Which of the following modulation techniques is mostly used in inverters ?
(a) Pulse width modulation (b)  Square wave output modulation
(c) Both (a) and (b) (d) Neither (a) nor (b)
151. An IGBT has three terminals called
(a) Collector, Emitter and Base (b) Drain, Source and Base
(¢) Drain, Source and Gate (d) Collector, Emitter and Gate
152. A UPS commonly has following parts :
(1)  rectifier (i1) inverter (i11) static switch
Which of the following is true ?
(a) only (1) (b) only (i) and (ii)
(¢) (1), (1) and (iii) (d) only (ii) and (iii)
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143.

144.

145.

ol SCR &l Ed IE WA e 0.5 WE | TIEaiesT HORaaqg 2 VE 10 Vashe I = a4
HTII T ?

(@ V,=2V,I,=025A; (b) V,=2V,I,=005A;
V,=10V,1,=0.05 A V,=10V,1,=025A
(© V,=2V,I[,=10A; (d) T 9 i T

Vg=10V,Ig=2A

TS JANE L. =R H, 6 weR 1 fespuiiad= e e % fore g & 2
(a) dicedn fKpaiad (b) =R puRaT
(c) ¥R feepafem (d) T fepuiad

T 800 V 3 H I T THT SR T TN AT SATE & [ &3 T o | afeesiey sxm
N

L1

(1 10 § (V) PMMC

(a) 200V (b) 400V (c) 800V a@ ==

146. ?%ﬂmﬁwrs‘% , STl 3132 dieesT a8 Sl & SIS dieesT SRfaT 3$eye R ¥R & Sge
(:;) IS TR Tl (b) FH-TIE Uk TATe
(c) IM-TRETA Gk TATE (d) Tees gig uerR Tl
147. TH SCR & dV/dt gL &l St &
(a) SCR % #vihd H RL 51T (b) SCR % #vited | LgRT
(c) SCR & 9ufishd § RC g1 (d) SCR & 3TRUR RC gRT
148. TEE UER wAE e H, SMPS S &l § ’
(a) T Ud S H (b) e wa FEE A
(c) TETwdwRH (d) vRUdETH
149. T THeT Hedl, S5, T gl o 39 et 400 sin (314 t) TMAXR FETAE |
SCR & AR &HI0T 60° % T, 39 M3 Aieest &
(a) 240/m (b) 400/m (¢) 300/m (d) 200/m
150. =1 5 | I T Higgele T, T H Tad SA1ET AN & ST & 2
(a) TIE-EEE AggereH (b) EEHR T I HegeR™
(©) () 3R (b) I (d) (a) T (b) § § HIE Fel
151. W% IGBT o i ZHeAl ohi el STl &
(a) oI, THIY 3R o9 (b) A, T A IH
(c) o, WY AT (d) FHorERz, THI R T
152. |MIa; T UPS % WM Eld €
() TFwErR
(i)
(i) few fe=m
fddsr T aae? .
(a) A (i) (b) 3 (i) W (i)
() (1), (i) T (ii1) (d) et (i) T (iii)
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153.

154.

155.

156.

157.

158.

; ‘){] Vo |::| Load

Vs

If o is the duty cycle type and output voltage of the chopper circuit above is
(a) stepup, aVy (b) step down, Vg
\% \Y
S S
(d) Step up, -«

(c) Step down, -«
When the SCR conducts, the forward voltage drop will

(a) 0.7 V at all load current (b) 2to2.5V atall load current

(c) increases slightly with load current (d) remains constant with load current

A separately excited dc motor is required to be controlled, from a 3-phase supply, for its
operation in the first quadrant only. The most preferred converter would be

(a) 3-phase fully controlled converter

(b) 3-phase fully controlled converter with free wheel diode
(c) 3-phase dual converter

(d) 3-phase half wave converter

For an SCR with turn-on time of 5 microsecond, an ideal trigger pulse should have
(a) short rise time with pulse width = 3 usec

(b) long rise time with pulse width = 6 psec

(c) short rise time with pulse width = 6 usec

(d) None of the above

Cyclo converter drives are generally employed in
(a) Traction (b) Milling
(c) Generating low frequencies (d) Generating pulses

In a dual converter, the circulating current

(a) allows smooth reversal of load current but increases the response time.
(b) allows smooth reversal of load current with improved speed of response.
(c) does not allow smooth reversal of load current but reduces response time.
(d) flows only if there is no interconnecting conductor.

159. A cyclo converter is a
(a) naturally commutated device
(b) forced commutated device
(¢) can be commutated in both manner
(d) None of the above
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153.

154.

155.

156.

157.

158.

159.

; ){] Vo |::| Load

Vs

I Tg2! ATEiehat o &, @ F 58 IfY aiuer s YhR a2 3M3eYe e

(a) T 3T, oV (b) VIR, oV
Vg Vg
(c) z%tr@m,l_a (d) z%tram,l_a
ST SCR =T T €, o SHHT 7 dieedT urd
(a) TH OREIRIW 0.7 V& | (b) TR IR W 2H 2.5 VT |
(c) ¥R 9RT % {Y 2T 91 927 | (d) YR YR 9 Had war e |

T JUF AT S, TR B hael VT TG H B A &, Th bl e ¥ bt

FATE | GG AT SUTFT FraleX g

(a) -l gol fEfa S

(b) -l ol FERT Frac T =it SrETe % |1
(c) M-=cia 3Tt e

(d) Tl 3T T B

fohet SCR 1 21 319 qHT 5 HTEsh! YHUS ¢, T 3R R ooy et
(a) H TS 2TH F WY Io AISTE = 3 psec
(b) T ST 2129 & T ToH HIETE = 6 Usec

(c) Y IEST 2EH &% A9 Uod IS = 6 Usec
(d) ST § | B TR

HEFAl e gIed W T fohd STt &

(a) wHUUTH (b) ToferT &
(c) A MGl ol SeI~ HH H (d) TI=T P SO B A
TS T3t IR H UREAR R

(a) YR 9RT T GH GORIcIeR0T ST 7, fohe] WiaTshan 9 o1 9@l ST & |

(b) YR URT T A TAURIAHT HT & 3T AfATshar i T H TR AT & |
(c) R 4RI & G Tqudiciiestor F&t s, o Ufafshar Tma ol 7 FHT AT ¢ |
(d) Hact ST Teclt & STET g T TrEg eI 7 & |

T Grgardl Soed & Ueh

(a) oYl HHgLS g (b) STRA FFLLE Fferd
(c) THIREq FE PN ST AHATE | (d) T F IS T
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160. The separately excited dc motor in the figure below has a rated armature current of 20 A
and a rated armature voltage of 150 V. An ideal chopper switching at 5 kHz is used to
control the armature voltage. If L, = 0.1 mH, R, = 1€, neglecting armature reaction, the

duty ratio of the chopper to obtain 50% of the rated torque at the rated speed and the rated
field current is
N/

B e
() 200v La Ra

(a) 04 (b) 0.5 (c) 07 d 0.8

161. An open-loop system is better than a closed-loop system in terms of
(a) Accuracy (b) Stability (c) Noise reduction (d) Sensitivity

162. A CRO cannot be used for direct measurement of
(a) Voltage (b) Current (c) Frequency (d) Power

163. The cycle time of a PLC is the time it takes to
(a) read all the input signals.
(b) read all the input signals, run the program and update outputs.
(c) read an input signal.
(d) check all the input signals against the program.

164. The thermocouple pair that gives the maximum sensitivity around 273 °k is
(a) Platinum — Constantan (b) Nichrome — Constantan
(¢) Nickel — Constantan (d) Copper — Nickel

165. An inverse transducer converts
(a) electrical energy to any other form of energy
(b) electrical energy to light energy
(c) mechanical displacement into electrical signal
(d) electrical energy to mechanical form

166. Optical Pyrometer is used to measure

(a) Light Intensity (b) Low Temperature

(c) High Temperature (d) Light Intensity & High Temperature
167. Horizontal deflection plates of CRO are placed generally

(a) Horizontal (b) Vertical (c) Diagonal (d) (a)or(b)
168. A controller essentially is a/an

(a) Amplifier (b) Sensor (c) Comparator (d) Clipper
169. Programming Languages for PLC is/are

(a) Ladder Diagram (b) Function Block Diagram

(¢) Structured Text (d) All of the above

170. To measure insulation resistance of equipments of voltage rating upto 440 V the megger
generator must generate
(a) 220V (b) 440V (c) 500V (d) None of these
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160.

161.

162.

163.

164.

165.

e fot & SF 7TE, U gUeh ®9 ¥ I SLAL HieT B 1T SHE GRT 20 A € T7 e AH
oSt 150 V € | R afeest i (Rtd & & o 5 kHz W fafe a2 ® 31eel 9 =
T AT TS 1AL, = 0.1 mH TR, = 1Q 3= UlHaT i SUel Hf 9=, qF &8 M

TS 3T hiee IR W LT FUT H 50% T & foTd =R 1 g2 3T e

\/
T \
() 200v La Ra

(a 04 () 0.5 (c) 0.7 d 0.8
TS GOAT-UTeT JUTIGAT Ueh S&-1eT UUTett | 30 Ty | 98a ¢ :
(a) AT (b) ferar (c) R HHA (d) HogAeTerdr
CRO ¥ G & |17 1 Hehell &
(a) d@ieesT (b) & (c) omgr (d) v

T PLC &1 9% §7 98§73 ¢ W I8

(a) @ 3T Tehell 1 TEe € | ,

(b) T ST Wehdl T URT &, UTUTH Tl TATT qT FHTaT i 31T AT § |
(c) U 3N Tehel I Tl ¢ | .

(d) T ST Tehall BT TUTH T Flel H Saar § |

273 °k % T AIEH W DI TT AI-=T I T 31 Fogsiet & ?
(a) AT — BT (b) TR — iE=A

(c) ToeT — P (d) =R - FFHeA

Y g e aRerd e &

(a) T St 1 S o Tl aFT WU (b)  Tere S B T St
(c) itres oo ot forge deba | (d) TorRpa St Bt AH &9 H

166. THTINT ITTTHTH S T L &
(a)  VIRIST T e AT (b) Y AIH BT AU H
(c) =9 ATOEE I A H (d) TS I o aUT ST ATHT Bt HIO |/
167. CRO ! &fast faeimur wid aHr=ae: @l St &
(a) &fasT (b) AR (c) fad=® (d) () 3 (b)
168. T RITE qoudt: €
OB ECED (b) TaTH (c) TqoHHRI (d) FHRF
169. PLC o foTT S&qHTeT 819 aTett T et &/8
(a) oI AT (b) RN s NG
(c) TS IR (d) TR
170. 440 V T 0 AT aTet ST o TV Are i A9+ & (ol HR ST Sl SRS BT
TTTH &
(@ 220V (b) 440V (c) 500V (d) T F FHE TEél
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171.

172.

173.

174.

Lissajous pattern obtained on a CRO screen is a circle. Frequency of two signals are

(a) Equal (b) Unequal (c) Zero (d) Infinity
Indicating instruments should be

(a) undamped (b) critically damped

(c) over damped (d) under damped

A megger is to measure insulation resistance of a cable. The cable should be connected to
(a) Battery (b) DC supply (c) AC supply (d) No supply

A strain gauge is a passive transducer and is employed for converting
(a) Pressure into change in resistance

(b) Force into displacement

(c) Mechanical displacement into a change of resistance

(d) None of the above

175. A megger is basically a/an
(a) Moving iron type instrument (b) Moving coil type instrument
(c) Hot wire instrument (d) Electrolytic instrument
176. The dynamic characteristics of capacitive transducer are similar to those of
(a) Low-pass filter (b) High-pass filter
(¢) Notch filter (d) Band-stop filter
177. The insulation resistance test is performed on power lines with
(a) ohm meter (b) earth tester
(c) megger (d) Any of these
178. Piezo meter is used to measure
(a) Very high pressure (b) Very low pressure
(c) Displacement (d) None of these
179. Which of the following devices is used to measure flow in an open channel ?
(a) Venturimeter (b) Rota meter
(¢)  Orifice (d) Pitot tube
180. The ladder diagram for the circuit shown below is
e Fm——————- 1|
|
|
L s Betll
Battery R 1. J
@ I Oo— v H+— O—
© HH| Oo— @ HH— O—
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171. TH CRO & U5 W U TidSIg U2 Uh g & | &1 Tl &t 3mgfa et

(a) TR (b) 3EHA ) THF (d) o=a
172. EfesHfen 3yt gt =nfew
(a) 3T-3EmfEq (b)  hifdeh: 3TaHEd
(c) 3 sTamifed (d) W IFemiEd
173. T WY 1 Ush shisfet T SN UfcRe A0 & | shisfet i bl Stret s =ifew 7
(a) s (b) . I  (c) TH. W (d) I @A &l

174. T A 1S U M5 ZREFE € 31X THe JanT fohan ST &
(a) T Pl UCRIY IR H 95e & o0
(b) T I T | FEe & feTT
(c) itrep oo =t wfeRy uRed= § S5 % oy
(d) ST H Q HIE TEl

175. U R UF: gar &

(a) Togem <ie Sy (b) forae FUee SUHUT

(c) T T ST (d) ToE s suwo
176. Hufaica ZASgER i fsharcHe STetEIvTes e o 4 €

(a) U oY (b) &I fiFcex

(c) = fheex (d) e e
177. UiaR WAl W forRIeRiE uiaRre u’ieror f 8 § fohad o ST € 2

(a) FAwHIZT (b) 3 e

() "R (d) = A el @ R
178. fosiies ferd Ao & ford wa fopa T € 2

(a) °Ifd 3= 3 (b) ETFHATE

() foemm (d) =99 9 HE T
179. Teit et | 5819 i 9o & fow = | 9 R gfe b v TR St € 2

(a) F=HEeX (b) TemieT

(c) AR d) Tz weh
180. =9 U T URUY HT IST RG B

e F-------- 1

L] °/

@ I Oo— w HA ¥ Oo—
© I | | Oo— @ H ¥ O—
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